Lernzo

DUE LR ERE

BFIVEDFX

o [BEERALEN, ERTEMRENR
o R~TE&E, HERR

® IR EML

® HFERIMREIE

® [ H1E7ESEEFIA1000bar

YN

HMANSH
EHEE -1...0...1...10...100...250...400...1000bar
HEEA 200% F.S (B47S)
WIRE S 300% F.S
¢ ¢ L HIMERE G1/4 ,G1/2 ,NPT1/4
1T Rz B BSEE M12x1, DIN 43650, B354
B o TiEHBE 15 ...30VDC
Yo BRI fiitiAt R SUS304 /316L
Y RERZRIRI]
HHEH
Yo BiR RIEKEINE e PNP EFF, 3 23
PNP EF], 3 £
Y HSIRFEFIHVACIEFI RS NPN *Z];;, 3 fj%fl
s iy 58 NPN HH, 3 £l
o EDBOERMER FFRER 0.5A @ 24VDC
Yo BBRBITAL SR SRS RSP
E|353k <+03%F.S
IR <+0.1%F.S
EEM <+0.1%F.S
Al 7 B} 8] <10 ms
KERRREM <+0.15 % F.S typ. / year
MESH
B -10...+70°C
NEEE 40 ...+120°C
TERE -30...+85°C
BERE -40 ... +130 °C
i e 50g, 11 ms
EN 60068-2-27
g <20g
EN 60068-2-6 at 10 ... 1000Hz
SIS > 100MQ at 100 VDC
[Vap a2 IP65
(DIN 43650, M12x1 & E$£5|4%)
HitbSH
REHE ~25Nm
BFERIR ~35 mA
EREG >10x 107 )%
10...90 % F.S
FhEE ~150¢g

-19-



Lernzo

DR R HEERRE

MR~

20

14

30

Sne T

G1/2
$30

20

ERRD

LZP50

[ s
1 - mEI4G
4 = M12x1, 4 pin

= DIN 43650, 4 pin

6
[[F—muwes
P

0 = PNPEF
| PC = PNP &
NO = NPNEFF

NC = NPN EF]

I

3 = G1/4
I 5 = G1/2
8 = M20x1.5
0 = Hft
[ F——%apteEs (ban)
| RIER A ERMAIRE
[ F—=4%8XxEn (an)
-1...0...1000
I — %
| G = ®RE
A = HE
[
00 = FC&4E (BUA)
02 = 2m#Zk4E
XX = Hft

1%EBY7=f5: LZP506PO-3-050-0400G-00

~46 |
o
<
2
1
34
o~
+
m
©

14

$26.5£0.5

SW27

M12x1 DIN 43650 Bi5l%
Pin | LZP504XX Pin | LZP506XX Bt | LZP501XX
1 iR+ 1 iR+ a1 B+
2 oV 2 oV = SP1
3 SP1 3 SP1 2k ov
4 n.c = P.E =] n.c
i
5 5 FR B
5...32VDC
O2VBC LT pint #/pin3 ﬁ
NPN FFxH! NPN
(>70V 4% /Pin2 H/Pin4/£—n.c/n.c/PE
PNP Imax=0.5A
CaLLy, ! 3/Pin3 ::X -
PNP FF <8
0% 4%/Pin2 H/Pin4/<+—n.c/n.c/P.E

-20-



